## Minimizing Dirichlet (again)

$$\frac{\operatorname{Proof} df(2)}{D_{-}} \quad \text{Let} \quad \varphi \in C_{c}^{\infty}(\mathcal{R}) \quad \text{be any test function. Then}$$

$$D_{-} \leq \mathcal{D}[u_{k}+\varphi] = \frac{1}{2} \int_{\mathcal{R}} |\nabla (u_{k}+\varphi)|^{2} dx$$

$$= \frac{1}{2} \int_{\mathcal{R}} |\nabla u_{k}+\nabla q|^{2} dx$$

$$= \frac{1}{2} \int_{\mathcal{R}} (|\nabla u_{k}|^{2} + 2 \nabla u_{k} \cdot \nabla \varphi + |\nabla \varphi|^{2}) dx$$

$$= \mathcal{D}[u_{k}] + \int \nabla u_{k} \cdot \nabla \varphi \, dx + \frac{1}{2} \int |\nabla \varphi|^{2} dx$$

$$\leq D_{-} + \frac{1}{k} + \int \nabla u_{k} \cdot \nabla \varphi \, dx + \frac{1}{2} \int |\nabla \varphi|^{2} dx$$

$$\Rightarrow -\int \nabla u_{k} \cdot \nabla \varphi \, dx \quad \leq \quad \frac{1}{k} + \frac{1}{k} \int |\nabla \varphi|^{k} \, dx$$
Undegraphine by parts implies:  

$$-\int \nabla u_{k} \cdot \nabla \varphi \, dx = -\int_{\mathbf{X}} \sum_{i=1}^{k} \sum_{j=1}^{k} \sum_{j=1}^{k} \sum_{j=1}^{k} \sum_{j=1}^{k} \frac{\partial \varphi}{\partial x_{i}} \, \frac{\partial \varphi}{\partial x_{i}} \, dx$$

$$= -\int_{\mathbf{X}} \sum_{i=1}^{k} \left( u_{i} \cdot \sum_{j=1}^{k} \sum_{j=1}^{k} \sum_{j=1}^{k} \frac{\partial \varphi}{\partial x_{i}} \right) \, dx$$

$$= -\int_{\mathbf{X}} u_{i} \cdot \frac{\partial \varphi}{\partial x_{i}} \, \frac{\partial \varphi}{\partial x_{i}} \, dx + \int_{\mathbf{X}} u_{i} \cdot \frac{\partial \varphi}{\partial x_{i}} \, dx$$

$$= -\int_{\mathbf{X}} u_{i} \cdot \frac{\partial \varphi}{\partial x_{i}} \, \frac{\partial \varphi}{\partial x_{i}} \, dx + \int_{\mathbf{X}} u_{i} \cdot \frac{\partial \varphi}{\partial x_{i}} \, dx$$

$$= -\int_{\mathbf{X}} u_{i} \cdot \frac{\partial \varphi}{\partial x_{i}} \, \frac{\partial \varphi}{\partial x_{i}} \, \frac{\partial \varphi}{\partial x_{i}} \, dx$$

$$= -\int_{\mathbf{X}} u_{i} \cdot \frac{\partial \varphi}{\partial x_{i}} \, \frac{\partial \varphi}{\partial x_{i}} \, \frac{\partial \varphi}{\partial x_{i}} \, \frac{\partial \varphi}{\partial x_{i}} \, dx$$

$$= -\int_{\mathbf{X}} u_{i} \cdot \frac{\partial \varphi}{\partial x_{i}} \, dx + \int_{\mathbf{X}} u_{i} \cdot \frac{\partial \varphi}{\partial x_{i}} \, dx$$

$$= -\int_{\mathbf{X}} u_{i} \cdot \frac{\partial \varphi}{\partial x_{i}} \, dx + \int_{\mathbf{X}} u_{i} \cdot \frac{\partial \varphi}{\partial x_{i}} \, dx$$

$$= -\int_{\mathbf{X}} u_{i} \cdot \frac{\partial \varphi}{\partial x_{i}} \, dx + \int_{\mathbf{X}} u_{i} \cdot \frac{\partial \varphi}{\partial x_{i}} \, dx$$

$$= -\int_{\mathbf{X}} u_{i} \cdot \frac{\partial \varphi}{\partial x_{i}} \, dx + \int_{\mathbf{X}} u_{i} \cdot \frac{\partial \varphi}{\partial x_{i}} \, dx$$

$$= -\int_{\mathbf{X}} u_{i} \cdot \frac{\partial \varphi}{\partial x_{i}} \, dx + \int_{\mathbf{X}} u_{i} \cdot \frac{\partial \varphi}{\partial x_{i}} \, dx$$

$$= -\int_{\mathbf{X}} u_{i} \cdot \frac{\partial \varphi}{\partial x_{i}} \, dx + \int_{\mathbf{X}} u_{i} \cdot \frac{\partial \varphi}{\partial x_{i}} \, dx$$

$$= -\int_{\mathbf{X}} u_{i} \cdot \frac{\partial \varphi}{\partial x_{i}} \, dx + \int_{\mathbf{X}} u_{i} \cdot \frac{\partial \varphi}{\partial x_{i}} \, dx$$

$$= -\int_{\mathbf{X}} u_{i} \cdot \frac{\partial \varphi}{\partial x_{i}} \, dx + \int_{\mathbf{X}} u_{i} \cdot \frac{\partial \varphi}{\partial x_{i}} \, dx$$

$$= -\int_{\mathbf{X}} u_{i} \cdot \frac{\partial \varphi}{\partial x_{i}} \, dx + \int_{\mathbf{X}} u_{i} \cdot \frac{\partial \varphi}{\partial x_{i}} \, dx$$

$$= -\int_{\mathbf{X}} u_{i} \cdot \frac{\partial \varphi}{\partial x_{i}} \, dx + \int_{\mathbf{X}} u_{i} \cdot \frac{\partial \varphi}{\partial x_{i}} \, dx + \int_{\mathbf{X}} u_{i} \cdot \frac{\partial \varphi}{\partial x_{i}} \, dx + \int_{\mathbf{X}} u_{i} \cdot \frac{\partial \varphi}{\partial x_{i}} \, dx + \int_{\mathbf{X}} u_{i} \cdot \frac{\partial \varphi}{\partial x_{i}} \, dx + \int_{\mathbf{X}} u_{i} \cdot \frac{\partial \varphi}{\partial x_{i}} \, dx + \int_{\mathbf{X}} u_{i} \cdot \frac{\partial \varphi}{\partial x_{i}} \, dx + \int_{\mathbf{X}} u_{i} \cdot \frac{\partial \varphi}{\partial x_{i}} \, dx + \int_{\mathbf{X}} u_{i} \cdot \frac{\partial \varphi}{\partial x_{i}} \, dx + \int_{\mathbf{X}} u_{i} \cdot \frac{\partial \varphi}{\partial x_{i}} \, dx + \int_{\mathbf{X}} u_{i} \cdot \frac{\partial \varphi}{\partial x_{i}} \, dx + \int_{\mathbf{X}} u_{i} \cdot \frac{\partial \varphi}{\partial x_{i}} \, dx + \int_{\mathbf{X}} u_{i} \cdot \frac{\partial \varphi}{\partial x_{i}} \, dx + \int_{\mathbf{X}} u_{i} \cdot \frac{\partial \varphi}{\partial x_{i}}$$

.

Therefore  $\Delta U = 0$  in the sense of distributions. //// Questions U = g on  $\partial R$ ? Is  $U = T_u$  for some  $u: R \rightarrow R$ ?